
 

 
 
 
 

 
1   

Thank you for choosing Westin products 
for additional installation assistance please call 

Customer Service (800) 793-7846 
www.westinautomotive.com 

P.N.: 75-34105-RevA ECO #: W16-0102 DATE: 6/19/17 

Westin Automotive Products, Inc. 
320 W. Covina Blvd 
San Dimas, Ca. 91773 

INSTALLATION INSTRUCTIONS 

HDX LED GRILLE  

APPLICATION:  

 2017 Ford F250, F350 

PART NUMBER:  

34-1055 

PROCEDURE 

1. Remove contents from box, verify if all parts listed are present and free from damage.  

Carefully read and understand all instructions before attempting installation. 

Failure to identify damage before installation could lead to a rejection of any claim. 

2. Start by lifting up the hood and remove the radiator cover by removing the plastic push pins. See Figure 1. 

3. Under the radiator cover remove screws that attach the grille. Refer to Figure 2.  

4. Carefully pull off the grille making sure to unplug any electrical wires. See Figure 3.     

5. The plastic skeleton is the part that the grille was bolted to. Remove all bolts that attach the plastic skeleton to the vehicle. 

Loosen the headlights and push them outwards by removing bolts that attach it to the vehicle. Refer to Figures 4 - 7.  

6. Remove horn from the plastic skeleton. See Figure 10. 

7. Once horn is removed from the plastic skeleton, it can be removed from the vehicle. See Figure 8. (Note: If plastic skele-

ton cannot be removed after loosening headlights and pushing them outward, remove headlights from the vehicle by re-

moving the bolt that attaches it to the fender. Unplug headlight bulbs from wiring harness. See Figure 9. 

ITEM 1 ITEM 8 ITEM 3 ITEM 5 

Driver side brackets opposite 

of passenger side brackets ITEM 6 

Longer   Shorter 

Bend 

 

ITEM QUANTITY DESCRIPTION TOOLS NEEDED 

1 1 HDX LED GRILLE  13MM SOCKET 

2,3 2 UPPER BRACKET A, DRIVER (2) AND PASSENGER (3) 6MM ALLEN KEY  

4,5 2 UPPER BRACKET B, DRIVER (4) AND PASSENGER (5) RATCHET 

6,7 2 MOUNT BRACKET A, DRIVER (6) AND PASSENGER (7) TORQUE WRENCH 

8,9 2 MOUNT BRACKET B, DRIVER (8) AND PASSENGER (9) 13MM RATCHET 

WRENCH  10 4 M8 HEX HEAD CAP SCREW (YELLOW ZINC) 

11 4 M8 SPLIT LOCK WASHER (YELLOW ZINC) 10MM SOCKET 

12 4 M8 FLAT WASHER (YELLOW ZINC)  

13 8 M6 HEX NUT (YELLOW ZINC)  

14 8 M6 SPLIT LOCK WASHER (YELLOW ZINC)  

15 8 M6 FLAT WASHER (YELLOW ZINC)  

ANTI-SEIZE LUBRICANT MUST BE USED ON ALL STAINLESS STEEL FASTENERS TO PREVENT THREAD DAMAGE AND GALLING 



 

 
 
 
 

 
2   

Thank you for choosing Westin products 
for additional installation assistance please call 

Customer Service (800) 793-7846 
www.westinautomotive.com 

P.N.: 75-34105-RevA ECO #: W16-0102 DATE: 6/19/17 

Westin Automotive Products, Inc. 
320 W. Covina Blvd 
San Dimas, Ca. 91773 

Figure 1 

Remove push 

pins to remove 

the radiator cover 

Figure 2 

Remove factory hardware 

to remove grille  

Figure 3 

Unplug any wires that attach to the grille  

Figure 10 

Detach the 

vehicleôs horn 

from plastic 

skeleton 

Plastic Part 

Figure 8 

Remove the plastic skeleton shown below from 

vehicle after removing all bolts, and by loosening 

or removing the headlights. 

Figure 11 

Attach horn to radiator using factory bolt.  

Passenger side of 

radiator shown. 

Mount horn here. 

Figure 12 

Remove factory bolt on 

the top of headlight to 

loosen the headlight. 

Figure 4 
Remove bolts to 

remove skeleton 

Remove bolts to 

loosen headlight 

Figure 5 

Note: Remove headlight 

only if needed. 

Remove bolt to 

remove headlight 

Figure 9 

8. Reattach the vehicleôs horn onto the vehicleôs radiator on the passenger side using the factory hardware. See Figure 11 & 

12. (Note: May need to bend bracket in order to make horn fit properly.) 

9. Locate (2) Upper Bracket A (Items 2 & 3) and (2) Upper Bracket B (Items 4 & 5). Loosely secure the upper brackets onto 

the vehicle using the previously removed factory hardware. Refer to Figure 13. 

Remove 4 factory bolts at top of plastic  

skeleton. 

Remove bolts to 

remove skeleton 
Remove bolts to 

loosen headlight 

Figure 6 

Figure 7 


